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A = AB U AB® mutually exclusive
P(A) = P(AB) + P(AB®) & from ground truth
= P(A|B)P(B) + P(A|B°)P(B°)

PCAlR)= p(AL)/p®)

A man shoots an outdoor target. When sunny Q : ?(A) 7N :i ho ts ,w,fsq,t -N@)S
day, he has 0.8 prob. to hit the target; when '

raining day, he has 0.4 prob. to hit. The @M . i : Shenny P(s) =07
weather has 0.7 prob. to be sunny, and 0.3 . tedow o
P y Cy (S Thm 9 /DCR)"‘%;

prob. to be raining. ’[DCA|S7‘- 0.3, P(A"*): 0.y
@ C—%ji(-{»j ; F(A> - P(AIS).F(S) + F(A(R) , F(R)
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A man shoots a target. When sunny day, ©, (V‘“Mfﬂj

h&‘has 0.8 prob: to hit the target; when H o Nt aget §
raining day, he has 0.4 prob. to hit. The B Cmise 3
weather has 0.7 prob. to be sunny, and R i <od
0.3 prob. to be raining. - ; J ) ’)
_ ’ Su.hfl(j
s YRR =08 PRzl R+ PCR [T 7
\’?(Hli) FCTU; o.] F(P)= 0.3
PeRJF) = PRI _ pCHIR) pe#) 0.6 X 0 3
P CHO) - —

PCH ‘K) '?(l’\}"‘ P(\:(m 0.6%0.2 + 0.1xv.}
7 0.56
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